- RUITIV R 284% MEITSDREN] %

1|4 1] 24 1|-8
2| -22 2 -12 2| 22

1 1 s
3|70 3|75 3| =20

1 2
4| -10 4 6 4 —5
5123 5116 51|15
6 | I15x 6 | 2Ix 6 | I2x
7| —a 7| -7a 7| -3a
8|a+bd 8| 5a+7b 8 | -5a—-10b
9 | -28x+35y 9 | 48x—18y 9 | -63x+27y
10| da+7b 10| 4a—-11b 10| 5a-7b
11| —56ab 11| <4b5ab 11| 42ab
12| -7x 12| 4y 12| 9x
3 4

13| —9a 13 —3b 13| ~4a
14| 42xy7 14| —48xy 14| -36xy

5x+ by 7x+8y —x+11y
15 12 15 75 15 2
16| (x, y)=(2,1) 16| (x, y)=(4, 3) 16| (x, y)=(5,1)
17| (x, ¥y)=(1,5) 7] (x, y)=(1, 2) 17 (x, ¥y)=(2, 4)
18] (x,y)=(2, 3) 18| (x,y)=(2, 5) 18| (x,y)=(3, -2)
19 (x’y)z(_Z’_l) 19 (x}y):(—3,2) 19 (x’y)=(2’3)
20 (x’y)=(3’5) 20 (x’y)=(2’ _1) 20 (x’y)=(5’3)




B RUNNTIUYE 284 HEUGREDN] #®
1| -6 116 18
2 =22 2|21 2 | =21
7 7 5
3|20 s |
1 1 2
4 ~4 4 4 4 3
5111 5|23 5149
6| 11x 6 | 13x 6 | 13x
7| -8a 7| —6a 7| —6a
8 | 4a-3b 8| 3a+3b 8| -b5a-7b
9 | -54x+6y 9 | —-15x-6y 9 | 49x+28y
10| 4a+b 10| 2a-4b 10| —13a—19b
11| -72ab 11| —42ab 11| 45ab
12| —-9x 12| 3y 12| 8«
2 3 2 _
13 54 13 9b 13| —6a
14| 35xy° 14| -28xy 14| -28xy
7x+y 7x+18y x+5y
15 12 15 5 15 5
16| (z, y)=(1, 4) 16| (x, y)=(2, 3) 16| (x, y)=(5, 1)
17| (x, ¥y)=(2, 3) 7] (x, ¥y)=(4, 3) 7] (x, ¥y)=(5, 3)
18| (x,y)=(1,2) 18| (x,¥y)=(3, -2) 18| (x,y)=(5, 2)
19 (x,y)=(-1,2) 19 (x,¥y)=(3, 4) 19 (x,y)=(2, 3)
20 (x; y)=(3’ _1) 20 (x’ y)=(5’3) 20 (x’ y)=(2’1)




BRI TIUY R 2845 MEZHERER] %
1| -7 116 11 -5
2| 27 2| 22 2 | 23
5 1 11
3|5 ST 3|75
4|4 4| L 4|4
5117 5119 5170
6 | 15x 6 | 15x 6 | 11x
7| -5a 7| —6a 7| —6a
8 | 5a+4b 8 | 4a+5b 8 | 3a-11b
9 | —15x+45y 9 | 24x—40y 9 | 42x+28y
10| a-b 10| 11a+b 10| 3a—-7b
11| -63ab 11| —24ab 11| 32ab
12| 4x 12| 9y 12| —9x
13| —8a° 13 —%b 13| —6a
14 | 36xy? 14| -21xy 14| -28xy
7x+7y x+17y 6x+5y
L 15 10 e
16| (x, y)=(2, 3) 16| (x, y)=(5,2) 16| (x,y)=(2, 3)
17] (x, y)=(1, 3) 17| (x, y)=(1, 4) 17| (x, y)=(3, 4)
18| (x,y)=(1,5) 18] (x,y)=(2,1) 18] (x,¥)=(3,2)
19| (x, y)=(2, -1) 19| (x,y)=(3, 2) 19 (x,y)=(2, 1)
20| (x,y)=(-2,5) 20| (z,y)=(2, -1) 20| (x,y)=(4,3)




